2. T%Fﬁ mﬁﬁfﬂeﬁ‘%/ﬁﬁ BE
mEN AR RERSERE - KBBEE > MREE -
4. ﬁﬁﬁ%ﬂ’z‘]i‘%"i&lﬁc » RIFEES) » BAFERE > Fawwtt—
ER -
5. BEANM#A > £RIIETWRBERS -
6. BT E > ERES
7 EREMERREME  STRAFERAERT > THRIR -

A

EEE)H’E

* 3 MSR
{EENRZTN By e
L& 312 ~ @16 ~ @20 ~ @25 ~ B32 « B40
EFAEE E R
& 1.5MPa(15kgf/cm?)
EEEHD 0.07~0.97MPa(0.7~9.9kgf/cm?)
ERZEE 50~500mm/sec
ERRE -10°C~+70°C ( REIFEKAKEE)
=& @12~@25PURF » @32~g40T BEE
Fitadis AEE (foHeT)

%I

MSR 1248

e

MSRP RFa

@12 15~100mm
316 15~150mm
@20 15~300mm
25 15~300mm
@32 25~300mm
40 25~300mm

MSWR a5
(ETE20-40)

TG-C73
TG-H7A1 1 1 ﬂEI

TG-H7A2
TG- H7’ 2 2(@

-

WA S A2 R8145.01
~[8145.02-

SDB

Yl

P #Z1%58
i f




R EEEL /3% (R & &L (1SO 6432)

MSR % 5l
MINIATURE CYLINDER (ISO 6432)

E— %ﬁﬁﬁ
(mm)

25 | 40 | 50 | 60 | 75 | 100 125 | 150 | 200 | 250 | 300

@12 o 9 9 9 9 9 9

216 9 9 9 9 Qo 9 9 9 Qo

@20 9 9 9 9 9o 9 9 9 Qo 9 9 9

@25 o 9 9 9 9 9 9 9 9 9 9 9

32 9 9 Q 9 9 9o 9 9 9

@40 9 9 9 9 9 9 9 9 9
B iS5 B

LB
e B 8 IR B E

8 5l
o Al = EEEBREE 1 B 3 EEHD | IR R | BEIR | BERIE
(2] ® = IBE BRI 1 @12 EL6 | DyP12 | Swmsx2 - -
. NeETRES
(3 AR o12 ®25;§§§§i 1 216 EL6 DYP16 | SM10X2 -
P32 -PA0REDE

@20 | COR8 | APA20 | SM1BX2 - -
(4] SEER iR EE S R IR 1
o 5 = BEE 220401 @32 | COR12 | APA32 | smesx2 | DF14 | smex2
0 | s NBREIZIZ 1 @40 | COR16 | APA40 | SM3BX2 | DF20 | SMBX2

212,016:2
3 NeaE=y JE
@ | F=nH NBREIHS 250401 E
(8] S SRBHR 1 @
() 1 5% Esymlix = P 1
o TR TEFLONEZHE |2 o 218 el
@20~40:1
= o)

?  mEms - 5 @12 | 78|79 |80 | 81 | 82 | 83 | 85 | H25mmigilag
@ I Eall NBRI#ZE 1 @16 | 96 [101 |108 113118 | 125|137 | E25mmiZil12g

@20 (169|175 |185 191|197 | 207 | 223 | &25mmiZ/016g
@25 |223|235 |254 |267 |279 | 298 | 329 | 25mmigi31g
@32 - 1376 - |416| - |456 496 |&F25mmiZl40g
@40 - |B36| - |B99| - |762|825|&25mmiEII63g

'3 05.02




Eﬁ
P A

A+1712 H
C E N B+1718 N _ |
$HEG F L gD
T |T1 2-PT 2Q
it
> s

[<]8]

D1

3

&

\

& |A|B|CeD1leD|E|F |G H|J |[K|L M1 \Y/| N|P |eQ| R [S1|S|T1T|eU|PT |V
@12 |75 |27 |16 |16 | 6 |22 |17 | - N4 5 |5.5/M16X1.5| M6X1.0 11.5|22| 6 |12 | 221|106 |5|19.8| M5 |18
@16 |82 |33 |16 |16 | 6 |22 |17 | - 3| - | 5|5.5|M16X1.5| MBX1.0 [11.5/22 | 6 | 12| 22|10/ 6 |5|19.8| M5 |18
QZO 96.5/36 |20 |22 | 8 25.5 18| 7 |15| 6 [7.5| 8 |M22X1.5| M8X1.25| 16 | 26 | 8 16 | 27 |14 | 8 6.5 28 | 1/8" |24
@25 104|36 |22 |22|10|28|20| 9 12| 6 |8 | 8 |M22X1.5|M10X1.25/ 16 |25 | 8 |16 | 27 |17|8 | 8|33.5 1/8" |30
@32 12040 |22 |24 |12 |30| 20|10 10| 6 [10| 8 |M24X1.5|M10X1.25/ 17 |26 | 10| 16 | 32|17| 7 40 | 1/8" |37
40 12948 |24 |30 | 16|29 |20|13 12| 8 | 9| 8 |M30X1.5|M12X1.25/ 18 |28 |12 | 20| 41|19|10| 7 | 49 | 1/8" |46
NP
w E¥FH (MSRP)
AP+1T12

C E N B+1712 N

#HEG L L

T 2-PT

S| s| —
N
oD J gD ® v

B
@12 (72 |27 |16 |16 | 6 | 22|17 | - - 5.5 M16X1.5 MB6X1.0 (11.5/22|10| 6 |5[19.8 | M5 |18
@16 |78 |33 |16 |16 | 6 |22 |17 | - - 5.5 |M16X1.5] MBX1.0 [11.5/22|10|6 |5[19.8 | M5 |18
@20 |93.5/36 |20 |22 | 8 |25.5 18| 7 6 |7.5] 8 M22X1.5| M8X1.25| 16 |27 |14 | 8 6.5 28 | 1/8" |24
@25 |96 |36 |22 | 22|10 |28 | 20| 9 6 8 |M22X1.5/M10X1.25| 16 |27 17| 8 |8|33.5| 1/8" |30
@32 [104| 40 | 22|24 |12 | 30|20 |10 | 6 |10| 8 |M24X1.5/M10X1.25/ 17 |32|17|7 |8| 40 | 1/8" |37
@40 (11348 |24 |30|16 |29 |20 | 13| 8 8 |[M30X1.5/M12X1.25| 18 |41 |19 |10|7 | 49 | 1/8" |46




AERYE
O RAZER [LB]

R EEEL /3% (R & &L (1SO 6432)

MINIATURE CYLINDER (ISO 6432)

MSR % 5l

AA+1THE
AY+1T12
e ﬂ i E H : T
i | o
|
= i )
o o
| | | | |
[ 1] CO nE - EES
cJ | AX+1TH2 CF_ | A
\ \
B+1712 CD 4-gP CH
| \

®12 85 30 76 59 29 19 13 3 43 12.5 32 20 5.5
@16| 91 36 82 65 29 19 13 3 43 12.5 32 20 5.5
@20| 109.5| 42 100 78.5 | 36.5 | 23.5 16 3 53 16 40 25 6.6
@25 112 42 100 78.5 | 36.5 | 23.5 16 3 53 16 40 25 6.6
@32| 129 32 124 86 54 33 25 4 59 19 45 32 6.6
@40 138 42 134 96 54 33 25 4 64 23 50 36 6.6
247 (FA FB
1
O BRI (FA) %&Z%R (FB) 5 p12-a25 5 232,940
M+1T7#2 BB
Q BC BC BB R
. N oy
) v N
Bl i Bl ah @R
< o ‘/(w\ < o |
= t | BS 58 & % 58 \% )
/ T | O
N - 7/
L+1712
2-gP 4-gP
irl RS BA BB BC M BO P Q R L
12 51 28 3 75 40 5.5 19 = 50
16 51 28 3 81 40 5.5 19 - 56
@20 66 40 5 98.5 50 6.6 20.5 = 68
@25 66 40 5 101 50 6.6 23 - 68
232 72 47 5 109 58 6.6 25 33 74
@40 84 50 5 118 70 7 24 36 84




o
CHANTO

SERI®
O FE (SDB)

XC+17%#2 LD

G | | | LF | 1x
T \
LE
B 1% XC LD LG LF ¢ LE LA oP LK LA
12 75 18 2 15 5 25 27 5.5 18.1 3
716 82 18 2 15 5 25 27 5.5 18.1 3
@20 | 96.5 | 2B 5 15 6 36 30 B.6 24.1 4
@25 | 104 26 5 15 6 36 30 6.6 24.1 4
@32 | 120 28 - 18 10 40 32 B.6 32 8
@40 | 129 32 - 20 12 45 36 6.6 40 10




R EEEL /3% (R & &L (1SO 6432)

MSR % 5l
MINIATURE CYLINDER (ISO 6432)

AERYR
O EHEEE)RZ MSWR DOXOO

A+21T12

N B+17%2 N E+{T712 C

2 G

2-PT

EE=mN ik a
s IIss

HREY A =] C oD | 8D1 E F G L \Y/| M1 N|IS|(S1T [T1| PT
@20 119 | 36 20 8 22 |[25.5| 18 7 8 M8X1.25 | M22X1.5 |116|13|27 5 | 8 |1/8"
@25 | 124 | 36 22 10 22 28 20 9 8 M10X1.25 M22X1.5 |16|117/27 6 |8 |1/8"
@32 | 134 | 40 22 12 24 30 20 10 8 M10X1.25 M24X1.517|117/,326 |7 [1/8"
40 | 142 | 48 24 16 30 29 20 13 8 M12X1.25 M30X1.5(18/19/41 7 10/1/8"
= "/
O EEOEF MSWR DO XOO YOO
A+21T12
C E N B+1712 N E+1712 C+ (TI381712)

‘ =
“:Hw M : ——

WATIFT72 (25mm)
" WBIHF2(50mm)

WD

EL#E A B Cc E N M WA WB WC osWD
@20 118 36 20 25.5 16 M8X1.25 45 70 10 23
25 124 36 22 28 16 M10X1.25 45 70 10 23
32 134 40 22 30 17 M10X1.25 45 70 10 23
40 142 48 24 29 18 M12X1.25 55 80 15 32.5




o
CHANTO

EEE?&E

O YEIEEGA(YI) G
ISO8140
DIN71752

aJ
B F
12 12 6 12 24 M6X1.0 6 12 12 31 10
16 12 6 12 24 M6X1.0 6 12 12 31 10
@20 16 8 16 32 M8X1.25 8 16 16 42 14
@25 20 10 20 40 M10X1.25 10 20 20 52 18
@32 20 10 20 40 M10X1.25 10 20 20 52 18
340 24 12 24 48 M12X1.25 12 24 24 62 20
0 PELIEERE(P) £
DING648 <G| €D
DIN24335
_ [ang
T ()
v 1

: IR =
N 5
N <
N
\ o oKD
gBD

B | A M CE |eCK|oCL/CM CD (ER|LE oBD/ C | E G | J | QO | X
@12 | 14| MBX1.0 | 30 | B 10 | 9 18 | 8 16 | 13 | 7 |1227| & | 39 8.96| 11
@16 |14 MBX1.0 | 30 | B 10 | 9 18 | 8 16 | 13 | 7 |1227| & | 39 18.96| 11
@20 (17| M8X1.25 | 36 | 8 (12512 | 22 | 11 | 19 | 16 | 8 |15.8| & | 47 |10.4| 14
@25 21| M10X1.25| 43 |10 |15 |14 |26 | 13 |22 | 19 | 11 |19.1|/6.5 | 86 |128] 17
@32 (21| M10X1.25| 43 |10 | 156 |14 |26 | 13 | 22 | 19 | 11 |19.1| 6.5 | 56 |12.9| 17
@40 |24 | M12X1.25| 50 | 12 |17.5| 16 | 30 | 16 | 26 | 22 | 12 |22.2|6.5 | 65 |15.4] 19




KRB/ *{RFE (1SO 6432)

MSR % 3l
MINIATURE CYLINDER (ISO 6432)

SABRIES

O YERIEBA(Y)

KG

oCL

CM #CK H9

LE

CE

M 2BD

@12 | 12 MBX1.0 24 6 12 6 7 17 12 10 8 31
@16 | 12 MBX1.0 24 6 12 6 7 17 12 10 8 31
@20 | 16 M8X1.25 32 8 16 8 10 21 16 14 13 42

@25 | 20 | M10X1.25| 40 10 18 10 12 26 20 18 15 52
@32 | 20 | M10X1.25| 40 10 18 10 12 26 20 18 15 52
@40 | 24 | M12X1.25| 48 12 24 12 12 32 24 22 15 60




